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Instructions for the candidate:
1 ool T v gt 4 & 9 &

Candidates are required to give their answers'in their own words as far as

practicable.
2zl v @i @ R2 EY 3E e ARke #vd &/
Figures in the right hand margin indicate full marks.
3 T e s &
All questions are compulsory.
« Tav 23 gy vhunlf qurT a7-HAr B T W&/
While answering, the candidate should adhere to the word limit as far as

practicable.
s 3T 0¥ 9T B 933 @ 2 15 Be @1 sRE s Rar ar @1

15 Minutes of extra time has been allotted for the candidates to read the questions.
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Choose the correct oplion-
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The sum of roory
b h\ uf [h . . o .
¢ quadratic cquation x* 4 2x - 3 = 0 will be-

(a) -2
by 2
| :
) = |
o) d) - -
2 (d) 3
2 URTIR () =x 4 7x 4 10 B ypum o, B8 7 o P B A - ()
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If o, B are the zeros of the quadratic polynomial p (X) = X'+ 7x + 10, then the value
of a, will be-
(@) 10 (®) <10
_ 7
— 4 =
© o @ %
3 W W AN W AR A @ R Y @ WP AR PEAAT— (1)
\@)/r;m (@) s
(M) > (@) 7o T
Putling‘ the value of variables in ascending or descending order, the value of middle
variable will be called-
(a) Mean (b) Median
(c) Mode (d) None of these
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i 5 = wom e

(w) oftm () arfdim
(m) gt (@) wiga

\/3 is a number-

(a) Rational number (b) [lrrational number
(c) Integer (d) Natural number
5. ﬁ=g(4,-s)aﬁ§at[aﬁgﬂs‘ﬂﬂ— . (1)
() 4l (@ 3
(m -3 (a) -Val
Distance from the origin of the point (4, -5) will be-
(@ 4l (b) 3
() -3 (d) -4l
6. Wy Ry A 3@ W g ¢ vl Yawh @ g erfi- (1)
(@) s @y
m I (@) amn

The length of Tangents on a circle from any external point will be-

(a) Unequal (b) Equal
(c) Double (d) Half
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(w) 288x (@) 188x

(1) 100% @ %%

- -olume of cone will he.
The height of cone is 24 cm, radius of basc 15 6 cm. Then ¥ he

(a) 288z (b) 188%
(¢) 100w (d) 90x
8 fiftma e & mfawar afi- (1)
(®) 1 (@ 2
") o @ 3

The probability of certain event will be-

(@ 1 (b) 2
() 0 (d) %
9. | +col’8 & w4 8m- ‘)
@) sec’d (@) cosec’®
(1) tan’® (@ cot’®
The value of | + cot’0 will be-
(a) sec’® (b) cosec’®
(c) tan°0 (d) cot’
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23.

w1 fydeta oy
R () MR (s, ya) @) ) Y b o R Py

ina foining Poi %, Y1) and (x,
The co - ordinates  of middle point of line joining points (x). Y1

be ...
R (a. b) R ca-b) @ §o ) CCUR | R

The distance between (a, b) and (-a. -b) will Be.ervreeveren

TR 2siINA= V3 A B AR

If 2sin A = V3 then the value of A will be.....oeeen.
Uf‘?cosf\:l:a’ltan:\mm .............. g |

4 X
Ifcos A = 5 then the value of tan A willbe oottt ieeeonennns

owTEa - A @il @1 e = H.CF. x L.C.M.

True or False - The product of two numbers is equal to H.C.F. x L.C.M.

" WRE IwRa I of @ . *Ed B

The class which has maximum frequencies is called................

| %umrgwazx3~8x+6$qwmmmw11vﬁmmﬁl

Find the sum and product of zeroes of quadratic polynomial 2x* - 8x + 6
fear wfhexw 3 qoll @ avaRe 1@ wae B @ Rie et 3 frd |
Find the conditions of roots of quadratic equation to be real and equal.

wmgﬁgwaﬁqﬁﬁﬁrsom.ammmaﬁml

The parameter of an equilateral triangle is 30 cm. Find its area,

@
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o o A Op mam o g nft vt P PA = 12 ¢m A1 OA = Scm Bl @)
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()
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In figure. find the value of OP f Tangent PA = 12 cmand OA = S ¢m

Rl A (5,2, B(4.7) N7 4) # @ TR ABC ¥ atrd o g ) @)
Find the arca of A ABC whose vertices are A (5, 2L B (4 Trand 7 4

gp 0 A oI e A Ry peoar dreen R ¥ ()
Find the area of circle whose ¢ircumference it 88 cm

R ull oA A vt s e g nlt ' R B O0m Tl @ vopr T A GO
arm 8wyt g fwe o i 8ty )
Two cubes each of volume 64.¢m” are joint end 10 end. Find the wurface area of the
resulting cuboid

K!I'H Mopa o1 dcr i @ g ™ -5) (-7, ¢) mat (10 -2) 7 @)

Find the centrond of a tnangle whose veriices are (3, -5), (-7, 4) and (10, -2).

/nlem;\zcmhrﬁﬂmw-- A+Be9 @)

Iftan A = cot A then prove that - A +B = 90*

}/oo' ® fyptmfadia wqan w81 @)

Find the trigonometric ratios of 60*
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Which tenmof un A.P. 3,8, 13, 18 is 787

u/mzﬁ%Jimﬁmms; )
S
Prove that 3 is an irrational number.
ywm ToF WS Y A 96 3 404 T H.C.F. 3R LCM. ¥ 3| ()
Find the H.C.F. and L.C.M. of 96 and 404 by the prime factorisation method.
{354. 13-x:={x+5)3m\mzﬂ| @)

Solve: 13 - x¥ = (x + 5)?

35, UF W o @ Jurd o A 7 h o 81 ol w13 W F @ At o @
AR &AM A w5 | . (3)
The height of a right angle triangle is 7 cm less than its base. If hypotenuse is 13 cm
then find the value of remaing two sides,

3. AE A ABC ¥ W& ¥l o Tor§ ¢ Y g wX & B &1 i o ij-u

g | (3)
Each side of an equilateral triangle ABC is a units..Prove that the altitude of the

triangle will be %—Ea.

%mmmaﬂmuﬁﬂg»\(zs).sm.mamcw.-s)a'mgu o)
If points A (2, 3), B (4, K) and C (6, -3) are collinear, then find the valué of K.
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A bag contains 3 red balls and 5 black balls. One ball is drawn at rando

probability (i) ball is red (ii) ball is not red.

';p/ﬂft’. tan(A+B)= J3 MR un(A-B)= 71_3—

0< A + B <90° A>B.

@A MDB F o T B

If tan (A +B) = JY3andtan(A-B)=

0<cA+B<9°, A>B

then find the value of A and B.

e - ‘I+sinA
- = A A
A0 g oA sec A + tan

l+smn A
1-sinA

Prove that

4. Prefafas IRERar e R § ARa I w Y

v

&

=scCA+lanA

T HRRTA

10—25

2540

4055

5570

7085

85—100

TR

2

3

7

Find the mean of following frequency distribution:

C.1

10—25

25—40

4055

§5—70

70—85

85—100

frequency

2

3

7

6

(3)
m. Find the

(@)

(@)

()
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The angle of elevation of the top of building from the foot of a tower is 30° and the

angle of elevation of the top of the tower from the foot of the building is 60°. If the

tower is 50 metre high, find the height of the building.

areT
& e 9 R & AR D or 3 Ruft & 40 A IR 3@ B anht & el
T T I I 60° W TeER 30° B wnn 81 DR N Furd ww Py

The shadow of a tower standing on a level ground is found to be 40m. longer when

the sun’s altitude is 30° than when it is 60° Find the height of thatower.

. g =¥ 5 2 wien Polt @ dadl o squr o @ el @ it @ e A
B & s)
Prove that the ratio of the areas of two similar triangular is equal to be square of the
Fatio of their comresponding sides. -

Jaar
o e B ) @ o W of o @ Rt @ ot @ 9 3 W @ o
N B T PV W6 e 8 |
In a triangle, if squarc of one side is cqual to the sum of the square of the other two
sides, than the angle opposite the first side is right angle,
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Draw a circle of radius 3 cm. Draw a pair of tangents to the circle, which are inclined
to cach other at an angle of 60°

e

5 AN, 6 AN Ik 7 AN et A T P @) e afog ok @ s e
Pom @ oo a0 fyad ey R &Y Pegs & s et -:- T 8|
Construct a triangle whose sides are 5 cm., 6 cmand 7 cm. construct a similar triangle

such that each of its side is 7 of the corresponding sides of the tniangle.
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